21565 =% &

H =002

Hi

7= miiEA

M
4R,

I
=,
BR:
SRR E WA &R BRHA A T &,

ESEXENHMT XN ERNHEASH  EERSBRTORXE

ENE 2%,

MY ANFEKER 600mm, XEBHTEERRESTIEEKENX
o

M -

wEELNBERS O 21590,
& E 124 07160,

O 5| &
. 2 e = ==t=—-
g = {5 ] B e < I ———" 4 m S 4 —
AN R ) I
>——0[ &
3 £1/2 5l
600 %%
21565-12375X0600 12 | 40 8 12| 45 | 29 75 M4x16 22 5 5 5,8
21565-16500X0600 16 45| 95 |16 | 55 | 33 100 M5x20 26 5 6 7
21565-20500X0600 20 | 52 11 20 | 6,6 | 37 | 100 M6x25 32 6 6,5 8,3
21565-25600X0600 25 | 57 14 | 25| 66 | 42| 120 M8x25 36 6 8,5 10,8
21565-30750X0600 30 69 17 30 9 51 150 M10x30 42 7 10,5 1
21565-40100X0600 40 | 73 17 | 40 9 55 | 200 M10x30 50 8 10,5 15
21565-50100X0600 50 84 19 50 11 63 | 200 M12x30 60 9 12,5 19

© norelem www.norelem.com



